



Hasmonic Function If Laplace equation $\frac{\partial^2 y}{\partial x^2} + \frac{\partial^2 y}{\partial y^2} = 0$ or 22 + 22 =0. & satisfied ie) Vart Vyy=0 (or) Vrx+Vyy=0. ie) flz) is said to be harmonic function (00) An expression of the form $\frac{\partial^2 \psi}{\partial x^2} + \frac{\partial^2 \psi}{\partial y^2} = 0$ is called the laplace equation in two dimension Any function having continuous second order partial destratives which satisfies the taplace equation is Called have monie function. Any two harmonic functions wand v such that fiz) = utiv is analytic are called conjugate harmonic functions. Note ! Both real and imaginary parts of an analytic function are harmonic. But the converse need not be true. O P.T V= 2 - Grey2 + y" hasmonic function. Harmonic equation: Vax+ Uyy=0 24 = 4x 3-12xy2 24 = 12x2-12y2 $\frac{\partial 21}{\partial y} = Ay^3 - 12x^2y$ $\frac{\partial^2 y}{\partial y^2} = 12y^2 - 12x^2$





$$\Rightarrow 12x^{2} - 12y^{2} + 12y^{2} - 12x^{2} = 0.$$

$$\Rightarrow U = x^{4} - 6x^{2}y^{2} + y^{4} & \text{is theorem?}$$

$$\Rightarrow U = x^{4} - 6x^{2}y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow V = x^{2} - y^{2} + 2xy - 3 \qquad \exists y = -3y + 2x - 2$$

$$\exists y = 2x + 2y - 3 \qquad \exists y = -3y + 2x - 2$$

$$\exists y = 2x + 2y - 3 \qquad \exists y = -3y + 2x - 2$$

$$\exists y = 2x + 2y - 3 \qquad \exists y = -2y + 2x - 2$$

$$\exists y = 2x + 2y - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2xy - 3x - 2y & \text{is theorem?}$$

$$\Rightarrow 12x^{2} - y^{2} + 2x^{2} + 2y^{2} + 2x^{2} + 2y^{2} + 2x^{2} + 2y^{2} + 2x^{2} + 2y^{2} + 2x^{2} + 2x$$



SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35 DEPARTMENT OF MATHEMATICS



A. Find the value of m such that 22-22+my 223 harmonic functions Let $u = 2x - x^2 + my^2$ $\frac{\partial U}{\partial x} = \partial x - \partial x$ $\frac{\partial U}{\partial y} = 2my$ $\frac{\partial^2 y}{\partial y^2} = 2m$ 221 = -2 Hagmonic function $\frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 u}{\partial y^2} = -2 + 2m = 0.$ 2m=2 [m=]] 5. P.T $u = x^2 - y^2 - 2xy - 2x + 3y$ is an harmonic function Given u= x2-y2-2xy-2x+ 8y $\frac{\partial u}{\partial x} = \mathbf{a} \mathbf{x} - \mathbf{a} \mathbf{y} - \mathbf{z} \qquad \frac{\partial \mathbf{u}}{\partial y} = -\mathbf{a} \mathbf{y} - \mathbf{a} \mathbf{x} + \mathbf{z}$ 2²4 = -2 24 = 2 Harmonic function: $\frac{\partial^2 u}{\partial u^2} + \frac{\partial^2 u}{\partial y^2} = 2 - 2 = 0.$: $u = \chi^2 - y^2 = a_{\chi}y - a_{\chi} + 3y$ is harmonic





6 Guie an example such that a and a are harmonic. but utiv is not analytic let w=z utiv= x-iy = u=x ; v=-y $\frac{\partial u}{\partial x} = 1; \frac{\partial u}{\partial y} = 0; \frac{\partial V}{\partial x} = 0; \frac{\partial V}{\partial y} = -1$ $\frac{\partial^2 u}{\partial x^2} = 0 ; \frac{\partial^2 u}{\partial y^2} = 0 : \frac{\partial^2 v}{\partial y^2} = 0 : \frac{\partial^2 v}{\partial y^2} = 0.$ $\frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 u}{\partial y^2} = 0$ and $\frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 v}{\partial y^2} = 0$. > V and V are harmonic But use try and Vat-uy : f(2) = utiv is not analytic \overline{T}) prove that $u = \chi^2 - y^2$, $V = -\frac{y}{\chi^2 + y^2}$ one harmonic but utiv & not a regular function Let $u = x^2 - y^2$ $\frac{\partial U}{\partial x} = ax$ $\frac{\partial U}{\partial y} = -ay$ $\frac{\partial^2 u}{\partial u^2} = 2$ $\frac{\partial^2 u}{\partial u^2} = -2$ 224 + 224 = 2-2=0





$$\frac{1}{2} U.S. harmonic
Let $v = \frac{-U}{x^{2}+y^{2}}$

$$\frac{\partial V}{\partial x} = -\frac{\left[(x^{2}+y^{2})(z) - U(zx)\right]}{(x^{2}+y^{2})^{2}} = \frac{2xy}{(x^{2}+y^{2})^{2}}$$

$$\frac{\partial V}{\partial x^{2}} = \frac{(x^{2}+y^{2})^{2}(2y) - 2xy}{(x^{2}+y^{2})^{2}} = \frac{2y^{2}}{(x^{2}+y^{2})^{2}}$$

$$= \frac{8y(x^{2}+y^{2}) - 2xy}{(x^{2}+y^{2})^{4}} = \frac{2y^{2}+2x^{2}y - 8x^{2}y}{(x^{2}+y^{2})^{4}}$$

$$= \frac{2y(x^{2}+y^{2}) - 8x^{2}y}{(x^{2}+y^{2})^{4}} = \frac{2y^{2}+2x^{2}y - 8x^{2}y}{(x^{2}+y^{2})^{3}}$$

$$= \frac{2y^{2}-6x^{2}y}{(x^{2}+y^{2})^{4}} = -\frac{(x^{2}-y^{2})}{(x^{2}+y^{2})^{2}} = \frac{y^{2}-x^{2}}{(x^{2}+y^{2})^{2}}$$

$$\frac{\partial V}{\partial y^{2}} = \frac{-\left[(x^{2}+y^{2}) - y \cdot 2y\right]}{(x^{2}+y^{2})^{2}} = -\frac{(x^{2}-y^{2})}{(x^{2}+y^{2})^{2}} = \frac{y^{2}-x^{2}}{(x^{2}+y^{2})^{2}}$$

$$\frac{\partial V}{\partial y^{2}} = \frac{(x^{2}+y^{2})^{2}-2y-(y^{2}-x^{2})}{(x^{2}+y^{2})^{4}}$$

$$= \frac{(x^{2}+y^{2})^{4}}{(x^{2}+y^{2})^{4}}$$

$$= \frac{2y(x^{2}+y^{2})^{4}}{(x^{2}+y^{2})^{4}}$$

$$= \frac{2y(x^{2}+y^{2})^{4}}{(x^{2}+y^{2})^{4}}$$

$$= \frac{2y(x^{2}+y^{2})^{4}}{(x^{2}+y^{2})^{4}}$$

$$= \frac{2y(x^{2}+y^{2})^{2}}{(x^{2}+y^{2})^{3}}$$

$$= \frac{2y(x^{2}+y^{2})^{2}}{(x^{2}+y^{2})^{3}}$$

$$= \frac{2y(x^{2}+y^{2})^{2}}{(x^{2}+y^{2})^{3}}$$$$



SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35 DEPARTMENT OF MATHEMATICS



